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d%
as in the original proof

,
define for f :( a.b) ⇒ R

✗ 1h11 :{ ✗ c- last :tnzk ⇒ lfnlx) - flak Ye }
if we fix l

,

then since fix] → fix) are
.

we have

UXIK.lt VICE ) :( a.bit
K

where I / e) is a zero set
.

We know that mlxlk.lt/-s1Tlbi- a ;) as k → a. which is the

measure of the domain of fn .

Thus we can define an

increasing sequence of { K;3ieµ sit
.

for Xe :X / ke.cl
we have mlXfl< Else

.

Thus

mÑxfl=mH9cE ,

where ✗ = Ñexe
'if fn converges uniformly on X

,
then given 020 We

fix 1 S.t. Yeas . b- n ? ke we have

✗ c- ✗ ⇒ ✗ exes ✗ Ike , e) ⇒ 1%1×1 - fix / clear
and thus fw converges uniformly towards f.

2b
,

we can consider q sequence fw on an unbounded

domain
.

The argument works for all dimensions but will

be shown in I. From the proof of frog offs theorem
,

define ✗ 1k
,
e) :{ ✗ c- S '.tn?klfnCN-fH)1cYe } for unbounded

s with finite measure
.

Then w/ ✗ the ) ) → mls) as

to → • because ¥111k .
e) vile) :S

.

Where I / e) is a too

set
.

Then follows the original proof .



Consider fn(µ :{
t ✗ c- In

.

htt ]

0 of W
.

we know that fn ⇒ fave
.

but it is NOT a uniform conv
.

2dg
With the proof of Egoroffs theorem as a starting point,
for an Edo Khs

'
is bounded because KCR is compact

.

It thus has finite measure
.

With SAK
'

ES as

replacementof ×! and HAS ' being ✗ the proof follows from

the proof of f- rogoff 's theorem .


